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<<lwjwunwth  Lwupwwbwnyejul  pntnwjht hwdwlwpgh  dwuhu>>
Cwjwunwuh  Lwupwwbwniejwu  optuph  19-pn hnndwdh  3-pnp Ybwnhu
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1. Cwjwunwuh <wupwwybnnputu  wulwfunypywu  20-wdjwyhu  udhpdwd
gnywqgnuwiht  Wnyebph L hnpwudbpubph wwwpwundwt  bywnwyng
<<Uowynipwiht  dpwagpbtph  ppwlwuwgdwlu  gpwubljuly>>  whwnwlwl
hhduwpypht  npwbu  udhpwpbpneniut wpwdwnptine hwdwp  <wjwuwnwth
Cwupwwbnnpjut  dowlnyph twfuwpwpnipjuup 2011 pwlwlh  wnwohl
Yphuwdjwynud hwinuguty 214486.0 hwq. npwd’ Cwjwuinwuh <wlpwwbunyejwl
201 prYwlwlh wEnwwt pngbting  twfuwwnbujwsd  <wjwuwnwuh
Cwupwwbinniejult Ywnwlwpnipjwt ywhnwwnwiht $nunh hwodhu (pjnobinwht
dwhuubph  wunbuwghunwlwlt nwuwwuwpgdwlu  <<Cupwghl npwdwounphubp
whwnwlwtu U hwdwjupwiht ny  wnbunpwht  Juqdwlbpynipniuttiphu>>
hnnqwaény):

2. Cwywunwuh Cwupwwbunnipjul  Jwlnypeh Uwluwpwpht® unytu npnodwt
1-hu yGnnd hwunlwgwsd gnudwpp <<Uwynipwiht dpwagpbph hpwlwuwgdwu
gpwubijwy>> whunwluwu hhduwnpyhtu wnpwdwnpbp  udhpwpbpnyejwt
wwjdwtwagnph hhdwt Jpw:
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Cwjwunmwh Cwupwybnnipjut wuwunipjuu 20-wdjwyhu tyhdwsd
gnuqnujht typnipbtph b hnwudbpubph wwwnpwundwu dwiuubph
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Owfuuwwnbuwyh wudwlnwdp /hwquip
1. Mwuwnwnubiph nmwywagpnie)ntu
10 wbuwly x 149.6 h. n.=1496.0 h. n. 17696.0
18 wntiuwlh x 300 hwwn x 3.0 h. q—162000h n. o
2. <bnnwwnwhninduly'
20 hwuwn x 1870.0 h. n. -374000h n. “374000
3. Snuwlwu qnnzwhwqwnqwnmd 3740.0 h. n. - 3740.0
4. Lwnwpuwiht wyunnpnwubiph gndwqgnwjht wwumwnwwwmmd 5610.0 h.n. | 5610.0
5. Lnwwédwjuwihtu duwynpnd’ 2244.0 h. n. - - 22440
6. ([anpet wwuwnmwnubp' 3750.0
S nbuwlh x 10000 hwwn x 75 npwd = 3750.0 h. n. B - R
7. Py’
100000 hwin x 75 npwd = 7500.0 h. n. - o 7200 O_” )
8. Lpdpwtpwl’
60000 hwwn x 95 npwd = 5700.0 h. 43 ) SEEE )
9. Aphy’
50000 hwuwn x 190 npwd = 9500.0 h. n. 9500.0 -
10. Ftwypngulywt inbinpbip’
200000 hwwn x 115 npwd = 23000.0 h. n. ?3000 0
11. tgpwpwn’
10000 hwn x 1120 npwd = 112000 h.p. 4 HEE
12. (@npb nnypwy’ 11250.0
3 wbuwlh x 50000 hwwn x 75 npwd = 11250.0 h. n. I -
13. opwp’
6 nbuwlh x 10000 hwwn x 150 npwd = 9000 Oh g i
14. Pudwlubip/unipéh/ 248.0
200 hwwn x 3740 npwd = 748.0 h. n. -
15. Pwdwlubip/pbh/ 248.0
200 hwun x 3740 npwd = 748.0 h. n.
16. Pwuwihubph onpw’
20000 hwuwn x 750 npwd =15000.0 h. n. i i _ IDAEE O_‘_
17 Qfuwply, gwighly, wuwjnwwy’ 37400.0
10000 hwwn x 3740 npwd = 37400.0 h. n. i
18. dnuinwipnd
1000 hwuwn x 13.0 h. . =13000.0 h. n. 13000_()”
CLAUULLLE ~214486.0
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<<Cwjwunwuh Cwupwwbnnigjwt dowlnypeh Lwluwpwpnipuup gnidwn
hwnfwgubynt - dwuht>>  Cwjwunwuh  <wipwwbnnut  Ywnwdwpnyejul
npndwl bwjuwqgdh punniundp Cwjwunwuh  <wlpwwbnneut  whnwlwi
pjngtinud [nugnighs dwiuubin sh wnwowgunud:
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